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Chapter 3: Comprehension

EXERCISE 3.11: THE SACRED GEESE

1. lines 1-4: multi ROmant abi€runt quod timébant. c&tert ROmani in Capitdlio manébant:
'Capitolium sacrum est,’ inquiunt. 'Iuppiter et IGn0 et Minerva in Capitolio habitant.
bonum est Capitolium fortiter défendere.’

The Romans were fighting the Gauls. Many Romans abandoned Rome because they were afraid. Why

did other Romans stay on the Capitoline hill?

2. lines 5-6: Galli vincere non poterant quod difficile erat ad Capitolium ascendere.

Why were the Gauls not able to win? [1]

3. lines 6-8: tandem Galli consilium bonum cépérunt. prope flimen erat saxum
praeruptum: Galli saxum praeruptum clam ascendere poterant.

What was clever about the plan which the Gauls made?
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4. lines 9-10: tum Galll saxum ascendébant. Romani dormiébant; Romani Gallos non
audiverunt.

When did the Gauls start to climb? Why do you think they chose this time?

2]

5. lines 10-11: subitd anserés sacri Gallos conspexérunt. subitd anserés clangores fécérunt.
subitd Romanrt anserés audivérunt et Galldos cOnspexérunt.

How did the geese ruin the Gauls’ plan?

6. lines 11-12: Romani ad Gallos celeriter cucurrérunt et audacter pugnabant.

What did the Romans do after hearing the noises from the Geese?

[1]

7. lines 12-14: Romani Galldos dé sax0d iaci€bant; corpora, arma, gladil et sagittae dé saxo
cadébant. Roman1t multos Gallos interfécérunt.
How do we know that the Romans beat the Gauls easily? Describe in your own words what happened

to them.

2]

8. line 15-16: Romani laetl erant. 'in Capitdlid mansimus,' inquiunt, 'quod sacrum est. a
dels auxilium petivimus: del Romam servavérunt.'

Why were the Romans happy?

[1]

9. Do you think that the Romans deserved this victory against the Gauls? Explain your answer with

reference to details from the story.
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Grammar questions
1. line 1: 6lim Romani contra Gallos dit pugnabant.
Identify a verb in the imperfect tense from this sentence. Give the conjugation of this verb.

[1]

2. line 2: cé€tert Romani in Capitolio manébant

Identify and explain the case of Capitdlio.

(2]

3. line 13: corpora, arma, gladii et sagittae dé saxd cadébant
Which two nouns in this sentence are second declension nominative pl? Explain why their endings are

different.

(2]




